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NAME            Solutions 
Quist: Chapter 1 – Introduction to Calculus 
(Note: You will receive a Communications grade out of 5 for how well your math is presented) 
 

1. Determine the equation of the tangent to the function   4 3f x x   at the point  4, 4 . 
K____/3 

(Note: We need to find the equation of a line y bmx  . The slope is given by the tangent slope “formula”, and we use the given point for b)  
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So, we have for the equation of the tangent 2y x b  . To find b we can use the point  4, 4 : 
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2. Determine the limit for each problem, if the limit exists:   A___/1, ___/2, ___/3, ___/2 
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c)  
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3. a) State the three conditions which make the function  f x  continuous at the single 
value x a .         K____/1 
b) Determine all values of x for which the function     T____/4 
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